= o
N & o & AF & H Al A
20198 & =04 LBISIH THZ2HUSISEZR AEEA2 ~ SN2EMSISES Boasiga
SH CHBHMSSEE ANYCAHDB
HH: ZTCHY 2Y
el EEAYCAHBO BR2Y CEEEED
(o
SA - BB B (BA) - MM - BHES Ol &+ o4 e HREZ
CHRBUSSER MBS 13,545,035 8,239,196 5,305,839
= 269,136
Xl 2,000,000
= 1,652,568
Al 9,623,331
3282 24 6,486,041 4,829,664 1,656,377
= 38,448
< 37,224
Al 6,410,369
EFANEN2Y 2e2Y 3,261,398 2,901,050 360,348
< 18,000
Al 3,243,398
S A2 AIEFR2el 238,770 166,793 71,977
206 = Hl 17,080 14,180 2,900
01 X2l 17,080 14,180 2,900
OHEXNM(HAE 2 2F)
100,000& » 38 » 54 1,500
O&IIANE 2283 4,800
OF&EXHI L HOZE &I+
15,0002 * 70K 1,050
O=ti&B HIIF ¥ LBALX
25,0003 = 704 1,750
OHNEE=Z0E T L rFIIR
40,000& = 5004 2,000
OJIAHEH 22E3 5,500
Ost&s =83+ 2 105 20,0003 = 7004 1,400
OB 2&d M 2 153
20,000& = 704 1,400
Od2g A=A 60,0002 = 304 1,800
OAs #ES 30,000& * 64 » 54 & 900
OXALE 22ES 5,280
O23Il 43™ &HI2
60,0003 * 400 * 1100 A& 2,640
ORES 60,000& * 400 » 1100 A& 2,640
401 AIEBIZ 2018 221,690 149,973 71,717
01 A& HI 221,690 149,973 71,717
OJHANE SN2+ 15,150
O3J1x3 &Hl 1,400,000& * 67| 8,400
O=stis+ = 4| 100,000& * 30CH 3,000
OZti= & ¥ = A&
400,000& 50 4 2,000
omIzgd |SLE &4l 50,000& = 35CH 1,750
O&IINE RANE= 12,500
OX% 2 HIEANE RANE>
1,500,000& * 5JH & 7,500




2N

 —
=
X ZXH: 2
=R IR
X

Ce HFANEZAZY 2el2Z (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=&4dl SXNE=+ 1,000,000 = 50 A 5,000
OAZANE RANE(ASSHEKXID)
1,300,000& = 11004 14,300
O M& HA&ZHI RAES
2,500,000& =+ 1CH 2,500
oded |FXE=+ 35,000
OANEZAM2 dSI| M2
4,500,000& = 27| 9,000
OANEEZ=AM2 SUEI| M2
40,000& = 1000H 4,000
OA A8 HLeI] AIH
2,000,000& 11004 22,000
ONMEBEEMZ S=J| 2ZHLA 4,100
Olls&d 110,000& * 304 3,300
Ooz=Zelgd 20,000 * 4004 800
05l FXNE= 400,000& = 11004 4,400
ozE RANE=S 68,740
OANEE M2 3,104& = 5,370m 16,669
Ooag 4z 2,3843 = 2,681m 6,392
OHIAZ M2 2,384% x 2,623m 6,254
OEsx=Z M2 1,2783& * 8,338m 10,656
OET M2 1,278& = 1,781m 2,277
OsE M2 2,3843 « 2,753m 6,564
ONM3 = M2 2,3843 = 2,692m 6,418
OE8HE M2 3,104& « 2,618m’ 8,127
(OFSE=2-—J-=p R 3,104& = 990m’ 3,073
OZHEMZ 1,278& * 1,140m 1,457
O=24 42 1,278& * 667m 853
OANEZANZ sHE S2I| HHEX £X
13,000,000& * 1JH 2 13,000
Osg9 M2 24 2= 20,000,000& * 102 20,000
OJIHS T2 24 =
8,000,000& * 1JHA 8,000
ONENa NrEEas dTLX
16,000,000& = 1JH A 16,000
OEENME StEAY NHs2 &
4,000,000& * 2JH A 8,000
ANEE 2922l 1,323,560 620,890 702,670
201 2yt 2 Y| 220,230 105, 100 115,130
02 2324l 220,230 3,808 216,422
OY2RUHHE === 214,150
OsZJl EI183 150,000& * 20CH 3,000
OsZJ 42 =2
229,000& = 20CH = 12& 54,960




2N

 —
=
X ZXH: 2
=R IR
X

Ce HFANEZAZY 2el2Z (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oigormae Q8+rg
70,0003 * 1201 & * 123 53,280
OFI|ItdZe| HElxrZ 53,220
A& & A 2 (800kw) 753,480& = 123 9,042
—& g & N 2 (500kw) 336,000& = 12& 4,032
-& 2 & N2 (450kw) 336,000& = 12& 4,032
—QEAS T MZ(970kw) 961,422 + 128 11,538
-Q & & M2 (275kw) 191,000& » 12&8 2,292
-= 2 & A2 (500kw) 336,000& = 12& 4,032
-2 & & M2 (433kw) 336,000& = 12& 4,032
~-A & & A 2 (500kw) 336,000& = 12& 4,032
-£9 & M2 (600kw) 438,000& » 128 5,256
285 M2 (250kw) 191,000& » 12&8 2,292
-2 & A 2 (90kw) 120,000& * 12& 1,440
—SAFE A 2 (37kw) 100,000& » 12& 1,200
O M2t &Il ZEI1&EZ
850,000& * 30H A 2,550
OAUBI 4= =3 (20Mx)
1,000,000& =* 23| 2,000
OJtA FHIIEM =2 100,000& =+ 13l 100
O=sU3=2 =ZFHAH(2HL)
100,000& =+ 23l 200
OM=Z =Z2AA(22H2A)  100,000& * 23] 200
OFA HHAS 420,0003 = 1294 + 63 30,240
OLES+TMZ 2 1A HLe )| (GHP) =
cICH& 1,200,000& * 128 14,400
ofIgu= 1,760
OHI| et™ el Xt 100,000 * 2% 200
O33712 Ygatatel it 180,000& * 69 1,080
OsZJl ot 2el Xt 30,000& = 69H 180
OMEBAIE ot 2te| Xt 300,000& * 1¥ 300
O M2t Al 22l Xt Tl =8| 450
O F 3t 90,000& = 3H 270
O¢otH 5t 60,000& = 3H 180
Ost=d& )| =02l &3l bl 100,000 * 1H 100
OAgord 2tel § sl | 50,000& » 63 300
OHAYHI| A2 (ER)
1,350& = 2002/ » 104 270
o243 HA(70E) 800,000& * 2 = 23| 3,200
206 M= Hl 8,330 8,690 A 360
01 =8l 8,330 8,690 A 360
OstzEa o HAZEE(58) 8,000,000& 8,000
od.=2xJ =5Z 16,5003 » 202 A 330




SN CARBMSSES ANBEAR
N ZZCAB 29

CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
oIkl & 1,080,000 504,000 576,000
05 2iztelet = 1,080,000 504,000 576,000
OHASA (MBS
3,000,000& * 18 * 12& 648,000
OFALEH (L2546
3,000,000& * 12% * 12& 432,000
405 XtabE SHI 15,000 3,100 11,900
01 HatH ESFH S 15,000 3,100 11,900
O (99m =1t) 3,000,000& * 5CH 15,000
2 M2 o=t 235t 1,256,224 1,037, 184 219,040
282 HH| 787,524 499,734 287,790
01 At 22l 53,360 50,010 3,350
OBorE Al ATEYN Hal 26,420
OPCE 28,000& * 500 14,000
OMH Z (Windows Server) 400,000& * 122 4,800
OMBH & (Linux Server) 750,000& * 92 6,750
OAhnLab Policy Center 870,000& = 1= 870
oPCE AZEAN 21,500
OMicrosoft Office Standard 2016
400,000& = 30=2 12,000
OstA Ul A 2018 &= 200,000& * 30& 6,000
OLEZSEHH 12.0(H2k2t0l & A)
16,000& * 100 1,600
OstEEera 9.0(01 2 XPCE)
38,000& * 50& 1,900
OQHYANEIA ZOC AEE
140,000& * 14 140
OZMHOIX &HeEs 0182
3,000,000& * 14 3,000
OAEZ0I0IEAIZE R 500,000& * 14 500
OEMZHAUMAERZ 1,800,000& * 14 1,800
S22l 734,164 449,724 284,440
oS ¥ Y& w2
500,000& * 110H 2 5,500
OZMZtelAIAE H/W,S/W S Xl2tel(328)
3,466,0008 * 12& 41,592
OTAZ UWERID & BotEdl sl (114
£2,158) 8,951,000& * 12& 107,412
ORFID AIAE S22l (12004 ,108)
12,529,000& = 12& 150,348
OCCTV AlAE K22l (10012)
2,382,000& * 12& 28,584
OXStWEAAY S22 (3H2)
977,000& * 12& 11,724
OZHOIXl SX22l(38) 1,057,0008 » 128 12,684




2N

X{ XH -
S =

. (BH) - HSAY - BAS O 4t 0t SSa H RS2
OPC & Z2ify SX2el (1290 4)
3,275,000& = 12& 39,300
OFESHNA 29 & 2L S22l (1294
A) 4,465,000& * 12& 53,580
OYLBIMSGH L SMSRS(1291HA)
1,500,000& = 12& 18,000
OTANAEBAMHA HE3H AIZ22
20,500,000& * 12& 246,000
OU-ADIEXE T A2 A&l (3HA)
1,620,000& = 12& 19,440
206 M = Hl 3,000 6,800 A 3,800
01 & bl 3,000 6,800 A 3,800
ogESAAA 22| XHAH 3,000
ogs 2 S AHoI= 6,000& * 500m 3,000
207 A O Y| 20,000 0 20,000
02 & AR EHH| 20,000 0 20,000
O2¥¢< M2 EHOIXN & #*+=  20,000,000& 20,000
401 Al HI YL 2 0HHI 124,000 230,000 A 106,000
01 A& HI 124,000 230,000 A 106,000
OEANZ HWERD L SAZ2A
3,000,000& * 8 A 24,000
OEAMZ =5 CCTVEHl dsiid
100,000,000& = 1JH 2 100,000
405 X+H&HFE SHI 321,700 300,650 21,050
01 Mt = S F SHI 314,200 300,650 13,550
O=% HHA AT 73,800
OZ EH 1,400,000& = 3004 42,000
(@FSPAE-PNP] 5,500,000& * 3CH 16,500
Osw¥IZelH 600,000& = 1404 8,400
OzetZelH 3,500,000& * 2CH 7,000
OL®: UWEXZ &bl 132,500
OL®: 4 29X 25,000,000& = 3JH 75,000
OL&:® MHE AKX 40,000,000 = 1H 40,000
OkL: /3108 A4 2,500,000& * 74 17,500
OS= A2 RFIDA B 107,800
odlA3ageld/etolHe 3,000,000& * 404 12,000
OXstsey Dl 24,400,000& * 2CH 48,800
OMRZEAIMNYH 500,000& = 8CH 4,000
olete )| 29,000,000& * 1CH 29,000
O3dE =Ty 3,000,000& = 2CH 6,000
OMA=| 8,000,000& * 1CH 8,000
02 &M+t 7,500 0 7,500




2N
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=
X ZXH: 2
=R IR
X

ool BFEARTAZY B2 (B9 ®R)
5 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OQU-ADIEEMZ SAF7Y
12,500& = 2003 * 3002 7,500
H2EA2 84 244,860 289,080 AN44.220
201 £B-2dH| 14,900 15,600 A700
01 At 22l 3,900 3,400 500
OEZd3tE 70,000& * 2004 1,400
OXH2EAMNE 2= 10,000& * 1008 1,000
O=sAdolE olsa AU X HE
1,500,000 1,500
03 &AL S HI 11,000 12,200 A 1,200
OOttt HotZ A3l 500,000& * 642 3,000
OO0l SEZZHY 500,000& * 8 A 4,000
oOX2ENMZ 2=
500,000& = 3H =« 23| 3,000
ORSTHT SYTI AT
100,000& » 5% = 2¢ 1,000
206 = Hl 3,000 0 3,000
01 MHZ 4l 3,000 0 3,000
Odtl S8 A2 A2 TAEHCUES
500 * 1,000 = 6IH A 3,000
301 e A= 960 960 0
09 &AL HIB &S 960 960 0
OXHSEMZ HAXASALA S4H|
8,000& = 30 * 43| 960
307 21201 A 114,000 114,000 0
02 QAFAAFEX 114,000 114,000 0
OXHST AN 2ZHl X3 (ASS)
5,000,000& * 20 2 10,000
OXNSTANZ 2ZHl XA (BSS)
4,000,000& * 702 28,000
OXST AN 2ZHl XA (CS3)
3,000,000& * 11044 33,000
OX2Z N2 B2 2ZH XA
1,000,000 = 109H & 10,000
OX2ENE SHAsOeIXAd X&
1,000,000 = 50 A 5,000
OS2 M2 HAXIH ALK 16,000, 000& 16,000
OXST M2 LAAXIMEX A
6,000,000& = 23| 12,000
402 QIZEXtE0| A 112,000 112,000 0
01 2IZE 2 A B (REMTH ) 112,000 112,000 0
OXSENMZ THEMILREA
4,000,000& » 280 2 112,000
oA SHl NJAZ 60,000 60,000 0




2N
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=
X ZXH: 2
=R IR
X

ool BFEARTAZY B2 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 18,000
Al 42,000
405 XHAHF S HI 60,000 60,000 0
= 18,000
Al 42,000
02 = A 7| 60,000 60,000 0
OS2 HE TAHFTY XA (ZHIOHE)
60,000,000 60,000
& 18,000
Al 42,000
SN2 22 24,550 32,400 ANT7,850
201 LBt 19,550 28,400 A 8,850
01 AP 22| H| 9,550 18,400 N 8,850
OEM2H= 0 H& 70,000& * 1504 1,050
OEANE EE2=EZE MZE 20,000& = 25004 5,000
O=ENEE SSA EE&IY 100,000& = 1504 1,500
ON=ZHAE=T AIE 3 HI 2,000,000& 2,000
03 A2 G HI 10,000 10,000 0
OBEANZTRY SHAY 29
1,000,000& * 103 10,000
203 &2 =&XH| 5,000 4,000 1,000
03 Al =& 2 5 X H| 5,000 4,000 1,000
OEME 22H g2 5,000,000 5,000
NS MHIA 98,934 69,400 29,534
201 LBt ]| 86,454 5,400 81,054
01 AP 22| H| 2,700 5,400 N2,700
OASUHIAHIA MASE(REIIIES)
150,000 * 18I0 A& 2,700
02 2224 H| 83,754 0 83,754
OASUHIAHIA SXI2el(18HA)
4,653,000 * 18JH A 83,754
301 LBt A= 12,480 0 12,480
12 JIEtE2 A= 12,480 0 12,480
ONSUX &2 N2 NEANK ES4AH|
20,0002 *« 104Y * 6o 12,480
22 e 22 14,500 0 14,500
201 et d| 14,500 0 14,500
02 2% H| 14,500 0 14,500
(OFZ =P =P\l 14,500
Os& X || 6,500,000& = 2CH 13,000
OsEX KA 1,500,000 = 1CH 1,500
ANEEAS 89 474 452 681,889 N 207,437




> 0 H

NBBMssRe AYSAHB
ZSNB 2Y
YN 29

SAH-EB .S (3H) - HEAY - BE2 ﬁlf& HD=2
HEANS NESES 183,482 172,964 10,518
201 Bt H | 44,682 34,164 10,518
01 AP 22l Yl 44,682 34,164 10,518

ootz x=dl 1,110& = 8,800 9,768
QFJIIZH:ME 2=Z 34,914
O X 15,000& * 2200 Al x 12& 3,960
O Xl & Xl 13,000& * 199 AF » 12& 2,964
OF 2t 5,000& * 1500 AF = 523 3,900
OE 2t 11,000& * 12000 AF = 128 15,840
O=Ust3 Xl =cto! HoleHuolA 2t 02
= 8,250,000& * 13 8,250
206 28 8,800 8,800 0
01 M= bl 8,800 8,800 0
OEAM B2ES 8,800
ORFID TAG 500& = 8,800H 4,400
Octd EXkI2 95 500& = 8,800H 4,400
405 XtakF SHI 130,000 130,000 0
02 &AM 7eHl 130,000 130,000 0
O&AM 130,000
OBt M 12,500& = 8,800 110,000
OFXHE = (ZH Ol Xl A HIA)
50,000& =* 4008 20,000
PENE 2sE2Y 29 74,260 73,920 340
201 LEt2 Y| 66, 160 67,960 A 1,800
03 A2 H H 66,160 67,960 A 1,800
OENZ BIEZZ2NH 29 40,910
OZ M=
35,000& * 2A12F = 22JH 8t * 243] 36,960
@)=E=4 70,000& * 1504 1,050
Os=589 2,900
-20 &X 1,500,000 = 1JH 2 1,500
-=9 oA 70,0003 = 20 1,400
O M2 =2t AL 850,000& * 13 850
O=M2AY A 2,500,000& * 13 2,500
O=SAES EHE 25 21,900
Ot cl=3 M& 2,000& = 1,000%8 2,000
Og+=a H& 70,000& * 109H 700
oz A28 1Y
100,000& * 5& * 43| 2,000
OXN<YE &I 2AHG 300,000 * 2% = 123] 7,200
OO0 ZE20d 29
100,000 * 4Y = 253 10,000




SH CHBHMSSEE ANYCAHDB
M ZDCHDY 29
el NRIEAE 29 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
206 M = Hl 1,800 1,800 0
01 & bl 1,800 1,800 0
oSsT=I 29 Ml
300,000& * 3&F * 23| 1,800
301 dEtEAZ 4,800 3,360 1,440
09 #HALAHIEA = 4,800 3,360 1,440
OSgZ=z 0¥ XNISALA S4HI
8,000& * 259 « 14 2,800
OMsINE NASAA ABIXA
20,000& + 104 = 103 2,000
405 XHakF SHI 1,500 800 700
01 A&t = S F SHI 1,500 800 700
OS2 na =& 1,500,000& = 1JH 1,500
ANEEAZ A 29 49,100 157,094 A 107,994
201 et A | 8,680 8,680 0
01 AFR2 2t 2l Yl 7,750 7,750 0
O A& A4 2,000& = 3,000 6,000
OFMBTABTHE & I
100,000& * 10¥ = 13 1,000
O X3S ALAF 2| 15,000& * 504 750
02 3524l 930 930 0
O 83yl 930
Ost=2E & 360,000& 360
O3 A& 450,000& 450
Os=s3c M 120,000& 120
206 T2 HI 18,100 17,250 850
01 = bl 18,100 17,250 850
OANIIEENHE 3,000& = 4004 1,200
O XS Al AFQIAI A& 100,000& * 109K 1,000
OEAN B8 HY 150,000& * 102 1,500
ORFID EHO(E4E) 500& * 50004 250
OXNsSUHERIE) 945 21X
3,000& x 2002 600
OHIED(MEUEE) 40,000€ * 2004 800
OAIZ2& I|etA 20,000& = 254 500
OUHEIS 6,500
Oot=ssas 1,500& = 3,0004 4,500
O2teel & 80,000& * 204 1,600
Odle3acely 10,000 * 404 400
oOuEZM2E 10,000& * 504 500
OFIIVH=E AEIH 1,000& = 2,0004 2,000
o¥EXzA 29 UM 3,150




SN CHRBMSEZE AYCHR
M ZDCHDY 29
el NRIEAE 29 CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
odleAl 35,000& = 204 700
[OFI== 15,000 * 204 300
Ol A 15,000& * 1094 150
Odle4 (oo & ) 50,0002 = 4074 2,000
OBXEZEHE SXl 20,000 * 582 A 100
301 dEtE A= 8,320 8,320 0
09 HAIAHI EA= 8,320 8,320 0
O AE2 KNJASAL 2SA|
0,000& * 4 * 104 8,320
405 XH&HF S I 14,000 41,500 AN 27,500
01 JtMY = S F SHI 14,000 41,500 N 27,500
oxza &dIF¢ 14,000
O6H2d = A At 800,000& = 10CH 8,000
Ob&23d 5 A A I} 500,000& = 12CH 6,000
HOCHE H=AUSSHN 94,400 94,400 0
201 et A H| 91,000 91,000 0
01 AFR2t2l bl 1,000 1,000 0
OMEE AN HE 2,000& * 5005 1,000
03 At L ] 90,000 90,000 0
oOHEEZAM 12,500& * 3,000 * 23] 75,000
OUEEM B2 AEA
200& = 3,0000H * 23| 1,200
O LA HAHIE 4,500,000& =* 23] 9,000
ozg=s+4Y 4,800
OUWEEAN &It 500,000& * 4% 2,000
OEE3 msisg
35,000& * 2AI2t x 20Y * 23] 2,800
206 M = Hl 600 600 0
01 M= bl 600 600 0
oz ]y 29 A2ZE 22 300,000& * 23] 600
301 LBt A= 2,800 2,800 0
09 HALAHIEA = 2,800 2,800 0
OHA=FHF HAI EAX SAH|
8,000& * 108 * 203 1,600
OMUSHF UASAX b
20,000& + 10¥ = 63 1,200
s 552 sH 57,600 57,600 0
201 L2 9| 52,000 52,000 0
03 M AtE L 52,000 52,000 0
os21ng =E5esAH 52,000
OXEAHHMZ 3,000& = 1,000 3,000




SH CHBHMSSEE ANYCAHDB
M ZDCHDY 29
el NRIEAE 29 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OEECeIEHH 1,000& = 1,000% 1,000
OFHEZANSEMH 2,000& = 500% 1,000
Osls+a H& 70,000& = 404 2,800
OZAF=S(KRYXIIEH)
2,000,000& * 24H 4,000
OZAI=E(MOIL S) 500,000& =* 59 2,500
OZAx=E(HEg=Zz O 5)
35,000& * 8Al2F = 259 7,000
O=te 34 500,000& * 54 2,500
OMEgZz )8 MEHl 300,000& + 304 9,000
OHAIAZE 2 H| 200,000& * 163 3,200
OF U A &bl 5,000,000& * 1JH 4 5,000
OMERA & 2UHAE HAOYI
300,000& * 30JH 9,000
Od#AIEE & 2,000,000& = 13| 2,000
301 dEtEAZ 5,600 5,600 0
09 HALAHIBEA = 5,600 5,600 0
o552 sH NASAMA S4AY|
8,000& * 100 = 23| 1,600
O=52 sH NSAMA AU XS
20,000& » 100¥ * 23] 4,000
W22 22129 9,610 33,675 N 24,065
201 LEt2 Y| 1,200 1,200 0
01 At 22l Yl 1,200 1,200 0
oOARE P2 100,000& * 12& 1,200
206 M= 8l 500 1,000 A 500
01 X2 bl 500 1,000 A 500
O=AM Helgs(dtesXxe 95)
500& = 1,000H 500
301 dEtEAZ 4,160 4,160 0
09 HALAHIBEA = 4,160 4,160 0
O MELl XASALA &S4l
0,000& * 2% * 104 4,160
405 XH&HF SHI 3,750 7,950 AN4,200
02 &7 bl 3,750 6,250 A 2,500
O=ENM7¢ 12,500& = 300& 3,750
Hols= T Al BEdiES 6,000 0 6,000
405 XH&HF SHI 6,000 0 6,000
01 AL S EF SHI 6,000 0 6,000
O=sM2 X H& 1,500,000& = 44 6,000

A2 2F 184,008 301,820 A117,812




CHRBMSSES ARCAB
ZZHE 29
AT AZ 2
SA-EB B (BH) - MRAY - B il
AEEANZ NS ES 119,952 111,960
201 Bt H | 22,752 14,760
01 AP 22l Yl 22,752 14,760
oOFJI2LHE R=EZ 14,760
OsLX 15,000& * 1500 AF = 12& 2,700
ORI X 13,000& * 1000 AF x 12& 1,560
O=F2+X] 5,000& * 15JHAF x 523 3,900
O&E 2t 11,000& * 50& x 12& 6,600
ootz =4l 7,992
oota=x=yl 1,110& = 7,200 7,992
206 T 2 bl 7,200 7,200
01 & bl 7,200 7,200
OEANE2ES 7,200
ORFID TAG 500& = 7,200H 3,600
Octe Sk 2 95 500& = 7,2000H 3,600
405 XH&HF S HI 90,000 90,000
02 &M+t 90,000 90,000
O=A 12,500& = 7,200 90,000
NYTAHZ 2HT20Y 29 28,760 28,760
201 Bt A H| 27,160 27,160
01 AFR2t2l bl 2,500 2,500
OsN=2E 2,000& = 800% 1,600
OEANZ E2= 2,000& x 4508 900
03 S AI2 H H 24,660 24,660
OsSMSIEZ IS 29 20,810
O A=E
35,000& * 2A12t = 12J8F * 243] 20,160
@)=E=4 70,000& = 54 350
Ox2E12L 300,000& = 13| 300
OZ M2 =2t AL 850,000& * 13 850
OSAoY At 1,000,000& = 13 1,000
O&JI Ots=% =339 500,000& =* 43| 2,000
301 YRR A 1,600 1,600
09 HALAHIBEA = 1,600 1,600
O=SNE3 Z2 0 TIHEAMA SAH|
8,000& * 10¥ * 203 1,600
NYENB H2IRA 29 21,065 56,492
201 Bt A | 2,335 2,335
01 At 22l Yl 2,070 2,070
oZelH EY 220,000& * 54 1,100




SH CHBHMSSEE ANYCAHDB
HH: ZDCHY 29
el AYEHE 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O=2AI EYH 260,000 = 1JH 260
OE2AD =4 500,000& = 1JH 500
O=2AEX 21,000& * 102+A 210
02 33249l 265 265 0
O g 3lyl 265
Ost== A& 115,000& = 13 115
OB M & 150,000& = 13 150
206 M = Hl 7,110 7,110 0
01 X Z Hl 7,110 7,110 0
oOHE3lIAS 1,500& = 2,50004 3,750
oIteel 2 80,000& * 104 800
osle3acly 100,000& = 504 500
OXZ Al A= 100,000& = 504 500
OCIXNEXgza IEBE 25
20,0008 * 385 » 128 720
OENEs+E HOolZ 150,000& = 28 300
oONsUsEetd)] d+F X 3,0008 * 802 240
OANIEENRE 3,000& = 1004 300
301 LprE A 8,320 8.320 0
09 AL HIBAZ 8,320 8,320 0
O ANME2 NIASAL 2SS4
0,000 * 49 * 104 8,320
405 XtabF S| 3,300 0 3,300
01 Mt =S F SHI 3,300 0 3,300
O AN JH(bEt2d = A1) 1,100,000& = 34 3,300
HYENT NESRN 2L 14,231 12,372 1,859
201 et A | 7,966 4,374 3,592
01 At 22l bl 2,400 2,400 0
O R0l AH| 200,000 = 12& 2,400
02 332494l 5,566 1,974 3,592
O - 24D KA &2l 33,000& * 404 ~ 12& 1,584
OFSXx HEA 14,0008 ~ H1E 714
OZJ/&HI| RA&2l 38,900& ~ 70 ~ 12& 3,268
206 T2 HI 6,265 7,998 ~1,733
01 X2 bl 6,265 7,998 N 1,733
OsI&A Y HAZE4E) 4,200,000 4,200
oOd -2 SEY 16,500& * 108+ A 165
OFMEE(SIE2 5&5) 50,0008 * 6= * 43| 1,200
OAIZ2& I8t A 20,000& = 104 200
OEMNELAE A= 500
OAlE AtQI =3 100,000& * 5& 500




SN CHRBMSEZE AYCHR
IM: BTSN 2
oelr HEACAHE 29 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HIASCAHE 24 176,179 334,688 A 158,509
HIASCAHNS IS = 119,952 111,960 7,992
201 et d| 22,752 14,760 7,992
01 AtR 22l 22,752 14,760 7,992
oOFIILHE=E = 14,760
Oz Xl 15,000& = 1500 AF * 128 2,700
O Xl gt Xl 13,000€ = 100 AF = 12&€ 1,560
Og 2t 11,000& = 500 AF = 12& 6,600
OF 2t 5,0008 * 1500 AF * 523 3,900
O AMAL Ot2R=HI| 1,110& = 7,200 7,992
206 M = dl 7,200 7,200 0
01 24l 7,200 7,200 0
OZHNH2IE IS 7,200
ORFID TAG 500 = 7,2000H 3,600
Octe =X 9= 500& = 7,200 3,600
405 XHA&HF S HI 90,000 90,000 0
02 T A 7| 90,000 90,000 0
O AFY 12,500& * 7,200& 90,000
HACHNZ 23D27Y 29 29,210 29,210 0
201 Bt 27,610 27,610 0
01 AP 22| H| 3,200 3,200 0
OsSMHMLE2ZE HE 22,0008 * 800% 1,600
O A3 oty 2IEY 2,000& * 8008 1,600
03 A2 G H| 24,410 24,410 0
OEME Stz 29 20,810
O ALLE
35,000 * 2A12F = 12008 % 243] 20,160
Osl =9 HE 70,000& = 5J4 350
OmZz )y ADEH| 300,000 = 13| 300
O M F=2HH A} 800,000& * 13| 800
OSsSMaAY A 800,000 * 13| 800
oots=2¢ =329 500,000 * 23| 1,000
OZ&I =x52A 500,000 * 23| 1,000
301 Bt A= 1,600 1,600 0
09 SHAIAHI EAZ 1,600 1,600 0
O2stT2 & NS ALA =4H|
8,0008 » 10€¥ = 20 1,600
HIASCANS AsdHa 29 16,415 65,261 A48 ,846
201 2Bt 2t 2,305 2,305 0
01 AP 22| H| 2,040 2,040 0




SH CHBHMSSEE ANYCAHDB
M ZRCNB 29
el M2 29 (&)
SA BB O () - MM - HES il H D=2
oZeglH EYH 220,000 = 54 ,100
O=AIl EH 260,000& = 24 520
O=AEX 21,0003 » 20 A 420
02 =224l 265 265 0
O &3l 265
Ost=2= M2 115,000& 115
O33sEM2 150, 000& 150
206 M = Hl 8,950 10,490 A 1,540
01 M= 4l 8,950 10,490 A 1,540
OU=E3IAE 5,950
OU=3te 1,500& = 3,000H 4,500
OJteelz 80,000& = 1504 ,200
O I=S=E 10,0002 * 254 250
OEAME=Z HOIZE 150,0008 * 32 450
OMIIESNE 3,000& = 1004 300
oOXNsUHEEEI 9+ X
3,000& = 1008 300
Ot =ZH=2 10,000 * 300H 300
OA2E JlgA 20,0002 = 104 200
otxgizs 2IXTM 650
OdlEA 35,000& = 104 350
O2I18E 15,0002 * 1004 150
Obt*A 15,000& = 100 150
OHRUDI(HEUHEE) 40,000& = 2004 800
301 YBHE A 4,160 4,160 0
09 HALAHIEA S 4,160 4,160 0
O MBEel NEASAX Al
20,0003 * 298 = 104« 4,160
405 XH&bE S HI 1,000 9,579 A8,579
01 AL EFSFHSHI 1,000 9,579 28,579
oXza SEEH ¢ 1,000
O=EdY 250,000& = 404 1,000
HATAZ AESRA 2 10,602 12,962 A 2,360
201 LB-2d| 5,472 5,472 0
01 At 2t 2|l 3,000 3,000 0
O AHl 250,000 = 12& 3,000
02 =224l 2,472 2,472 0
od - 2= X &cl 34,0008 » 404 = 12& 1,632
O&sx A 14,0002 *» 60E 840
206 M= Hl 5,130 7,490 A 2,360
01 = Hl 5,130 7,490 2,360




SH CHBHMSSEE ANYCAHDB
HH: DDA 29
@2 HACH2 29 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHMARE (B 258)
50,000& * 3& * 23] 300
OsIda L HAEE(4S) 4,500,000& 4,500
od -2 SEH 16,500 * 202k A 330
QEASETANZ 2 231,071 384,242 A 153,171
LESHTCNE ANESES 154,920 144,360 10,560
201 LEt2 A Y| 25,320 14,760 10,560
01 At 22l Yl 25,320 14,760 10,560
OFINUHME P=EE 25,320
O=2 X 15,000& * 1500 AF x» 12& 2,700
ORI K] 13,000 * 10JHAF = 128 1,560
O& 2K 11,000& * 50 AF » 12& 6,600
OF2tX 5,000& * 1500 AF *= 523 3,900
oota=x=dl 1,100& = 9,600& 10,560
206 M= Hl 9,600 9,600 0
01 X2 bl 9,600 9,600 0
OENE2ES 9,600
ORFID TAG 500& * 9,600H 4,800
Octd sk 2 93 500& * 9,6000H 4,800
405 XtabF SHI 120,000 120,000 0
02 & A7 120,000 120,000 0
OEANTY 12,500& * 9,600 120,000
LESHTAZ EEZZz ) 29 29,860 30,110 A 250
201 Bt A | 29,060 29,310 A 250
01 At 22l Yl 3,200 3,600 A 400
OsSMHML2E 2,000& x 800% 1,600
O A2 Ol clZa 2,000& = 800% 1,600
03 & AtE L | 25,860 25,710 150
OsSAHMIsE)H 29 21,860
O2Z A&
35,000& * 2A12F = 12Jl8F * 243] 20,160
@)= 70,000& = 204 1,400
OEz ) dH 29422 100,000& * 3= 300
O A2 F2tSH AL 1,000,000& = 13 1,000
OSsAMoAY A 1,000,000& = 13l 1,000
ools=2 =384 500,000& * 43| 2,000
301 dEtE A= 800 800 0
09 HAIAH EA=S 800 800 0
OSNESZZ2 08 NS ALAL S 4H|
8,000& * 10¥ * 103 800




2N
X ZH -
L= B

el

FO 01 HN

NBBMssRe AYSAHB
ZSNB 2Y
BELTHE 29

A - ER(EN) - AR - B of & o4 SSa HIDZ2
SN A28 29 27,025 97,583 A70,558
201 £et23E | 3,060 2,560 500
01 At 22l bl 2,550 2,050 500
ongH EUY 220,000& = 6H 1,320
O=Al EYH 260,000 * 294 520
O=SAMEX 21,0008 » 109F A& 210
O=SAMI EE 500,000& * 1M 500
02 s5=9Hl 510 510 0
O g2l 510
Ost=2= A& 360,000 360
O3 A 150,000& 150
206 T2 HI 11,925 12,575 A 650
01 M=l 11,925 12,575 A 650
O=MUEAS 6,600
OH=EHE 1,500& * 3,00094 4,500
ogsDmgd el= 80,000& * 204 1,600
Osl=3aeld 10,000& * 504 500
OXZ A AQIS 100,000& * 204 2,000
OXEM=E 10,0003 * 304 300
OZANES+E HOZ 150,000& =+ 58 750
oxsUsEedll =5 EX
3,000& = 1508 450
O=HE 3,000& = 504 150
OUXEXz4A 2LXM 975
Odl =4t 35,000& = 1504 525
OJIEE 15,0003 * 154 225
obtfA 15,000& * 1574 225
OAtZ=E JlgtA 20,0003 1504 300
oM2UIN(HEUESR) 40,0002 = 100K 400
301 AP B A 6,240 6,240 0
09 BAMAHIEAS 6,240 6,240 0
O=AMEel THESAA 254l
0,000& = 3% » 1042 6,240
405 Xt AHE S| 5,800 18,120 12,320
01 ML ESFH=H 5,800 18,120 A12,320
OXz=a MIt+¢ 5,800
O7et2cd S A At 800,000& = 1K 800
ObH2e S A It 500,000& = 1094 5,000
LEFSFTNZ AMEESRI 2L 19,266 19,953 A 687
201 2yt 2 Y| 10,268 10,268 0




2N
X ZH -
L= B

el

NBBMssRe AYSAHB
ZSNB 2Y
BELTHE 29

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l bl 3,600 3,600 0
O 201 AH| 300,000& = 12& 3,600
02 332494l 6,668 6,668 0
Od4I|l KA 36,800& x 6l ~ 128 2,650
O2JIAI| A2l
27,900 = 1204 ~ 12& 4,018
206 M = Hl 8,998 9,685 A\ 687
01 & bl 8,998 9,685 A\ 687
OsIda L HAEE(4S) 8,000,000 8,000
ML) 252 16,500& * 122t A 198
OFABRBE(FS 2 93)
50,000& * 10& 500
OFNMEE(51E2 2&) 50,0008 * 35 * 23] 300
PQETAS 2Y 145,456 225,975 A 80,519
QETAS NS ES 91,756 85,540 6,216
201 Bt A H| 16,156 9,940 6,216
01 AtR 22l bl 16, 156 9,940 6,216
OFJIIUHZE PS5 9,940
O LXK 15,000€ = 10O AF = 12&€ 1,800
ORI 13,000 * 10JHAF = 128 1,560
O& 2t 11,000& * 405 = 128 5,280
ZF=2HX 5,0008 * 5JfAF * B2 1,300
o zax=4| 1,110& » 5,600& 6,216
206 M = Hl 5,600 5,600 0
01 X = Hl 5,600 5,600 0
OENE2ES 5,600
ORFID TAG 500& * 5,600H 2,800
Octd sSXI2 95 500 = 5,600H 2,800
405 Ko SHI 70,000 70,000 0
02 EAFH| 70,000 70,000 0
O=ENM7¢ 12,500& * 5,600 70,000
QETAY STz 2A 26,430 27,430 A 1,000
201 et A | 25,630 26,630 A 1,000
01 At 22l ] 2,800 2,800 0
oOsMHME2Z2H 2,000& x 7008 1,400
OEME ot 2l E 2,000& = 700% 1,400
03 SHALS H I 22,830 23,830 A 1,000
OSASstEzz )y 24 19,130
OZA=Y
35,000& = 2A12F = 11JHBF « 243] 18,480




SH CHBHMSSEE ANYCAHDB
M ZRCNB 29
Chelr Q¥ M2 29 (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
O8=s+9 70,000& = 504 350
OEZ0NY 2IaE3 300,000& = 13l 300
O M2 =2t AL 850,000& = 13l 850
O=N2AE A 850,000& = 13l 850
Ots=3¢t =d33dA 500,000& = 43| 2,000
301 L2 LS 800 800 0
09 HALAHIE& S 800 800 0
O=2Z208 NIASAMA S4H|
8,000& = 10¥ = 103l 800
QECN2 =Y 29 16,605 56,262 A 39,657
201 LB-2E| 1,835 1,835 0
01 At 2t 2l 1,570 1,570 0
OZgH EY 220,000& = 504 1,100
O=AIl EH 260,000& = 14 260
O=AMEX 21,0002 » 10 A 210
02 22224l 265 265 0
O&3altl 265
Ot M2 115,000& * 13l 115
O33sEM2 150,000 * 13/ 150
206 M= Hl 4,950 6,180 A 1,230
01 M Z 4l 4,950 6,180 A 1,230
OZNUEIHE 2,200
OUE3tE 1,500& * 800H 1,200
Og=Zed el 80,000& = 104 800
Oogs=ZeHd 324 10,0002 * 2004 200
OUXEXNZA JIEEL 25 55,0003 * 1004 550
oxEZHEE 10,0002 * 204 200
OEANEx=E HOZ 100,000& * 58 500
ONnsSUHEEEIl =5 EX
3,000& » 1008 300
OMIIE SHE 3,000& = 1004 300
OHM2ED(HEUHEE) 40,0003 = 104 400
OFIIVUA=SEAEIA 1,000& * 5004 500
301 LEtE L= 8,320 8,320 0
09 HALAHIE& S 8,320 8,320 0
O MEel XA SAXR &34l
0,000& = 48 = 104 8,320
405 XHoHF S HI 1,500 1,200 300
01 XL 2 ZFH S| 1,500 1,200 300
ootsktza MIt 2 1,500,000& * 1CH 1,500
QETNZ ANEER A2 10,665 10,625 40




2N
X ZH -
L= B

el

gl

SHBEBMSSE
/N 29
QTP 29

SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
201 Bt A | 5,700 5,700 0
01 AP 2t 2l Yl 3,000 3,000 0
O Rol &I 250,000&  12& 3,000
02 33249l 2,700 2,700 0
ode+I A= 25,000& = 404 ~ 128 1,200
OF=PIPsPS SX2el 25,0008 x 50 x 12& 1,500
206 M = Hl 4,965 4,925 40
01 X2 bl 4,965 4,925 40
O3t 2 HASE4S) 3,800,000 3,800
H2L) S EH 16,5003 * 102+ A 165
oFAZIEBS(HZE 2) 50,000& * 8 400
OXMAZE(GIESR 3E)
50,0008 * 4Z * 23| 400
OAMZSEI| 20,000& * 104 200
2N 2 2 29 2,013,477 0 2,013,477
= 38,448
< 19,224
Al 1,955,805
SLEAZ ANESSS 520,340 0 520,340
201 Bt H | 47,840 0 47,840
01 At 22l Yl 47,840 0 47,840
OZMOtaAFHI 1,110& = 35,000 38,850
O8I 2+ 2== 8,990
O 15,000& = 150 AF = 88 1,800
ORI K] 13,000& * 10JH Al = 8& 1,040
OF2HX 5,000& * 10JHAF * 353 1,750
O 2K 11,000& * 500 Al x 8& 4,400
206 M = Hl 35,000 0 35,000
01 M= bl 35,000 0 35,000
O=AMAC (RFIDEH ) 500& * 35,000 17,500
O=AAZC (2t X 2A9E)
500& * 35,000 17,500
405 X+HoHF SHI 437,500 0 437,500
02 & A FH| 437,500 0 437,500
O=ENM7¢ 12,500& * 35,000 437,500
SYCH 2 TRIYSY 14,380 0 14,380
201 et A | 13,980 0 13,980
03 AL H I 13,980 0 13,980
©p/F=PIR=! A2 2,000,000& 2,000
OsSMHMoY A2 1,000,000& 1,000
O=SNESE 1Y 29 10,980




SH CHBHMSSEE ANYCAHDB
M BTCHY 29
SUCTHE HB 2L 29 (S &2)
CEH SR (BH) - NBAY - B2 o A o SSa H RS2
OB A=g
35,000& * 2A12t = 12J48F * 123] 10,080
OZzdgzad A28 300,000& * 3= 900
301 dEtE A= 400 400
09 HAIAH EA=S 400 400
OSNETFZZ2 08 NHIASALAL S 4H|
8,000& = 10¥ * 53] 400
YA NRITY 29 78,370 78,370
101 @121l 52,375 52,375
04 JI2ZtH22XNEE =+ 52,375 52,375
oz dEe ¥ =L d 29 52,375
ool 66,800& » 3Y * 262 » 9F 46,894
o4U2 8 4,881
-=0lH= 46,894,000& * 4.5% 2,111
-AUEE= 46,894,000& * 3.12% 1,464
-AIIRYBEEZ 1,464,000& * 7.38% 109
-8E8Ea2 46,894,000& * 1.5% 704
-MHEEE 46,894,000& * 1.05% 493
OY &SIyl 200,000& * 13 = 3YH 600
201 et A bl 2,365 2,365
01 AFR2t2ldl 2,365 2,365
oZglyH EY 220,000& = 64 1,320
OZ2AJ] EY 260,000& = 24 520
O=2AEX 21,000& = 258FA 525
206 TH 2 HI 11,150 11,150
01 M= bl 11,150 11,150
OEAUEIAS 4,400
osote 1,500& = 2,0004 3,000
oggzZey 2 80,000& =* 154 1,200
Odle3acely 10,000 * 20H 200
O=ME 3,000& * 1,000H4 3,000
OENEs+E HolZ 150,000& * 58 750
OXNsSUHEEYEI +=E2X 3,000& * 3008 900
ouZMEE 10,0002 * 304 300
OCXIEXtzd 2HAXM(ISB)
20,000& * 3Z = 304 1,800
301 dEtEAZ 12,480 12,480
12 JIEtE &2 12,480 12,480
OFLMAEL XIASALA s 4H|
20,000& » 69 » 104 12,480
S 2LET A2 AIES S22 12,937 12,937




FN: SN2BHSISER AECN2
M IZ3CNZ 29
SEEA2 2 & 2 (Sl & &)
M. o (BH) - HSAY - BAS ﬁlf& HD=2
201 L Er2 A | 5,072 5,072
01 ArR 22l 3,600 3,600
ORI FH 300,000& = 12& 3,600
02 32224l 1,472 1,472
odz=+I sXzel 36,800% = 400 * 10¥ 1,472
206 M= 4l 7,865 7,865
01 M= Hl 7,865 7,865
Ostda A HLAESEUS) 4,500,000& 4,500
O AlH 50,000& = 109K 500
odesll S5 16,500 » 102 A 165
OBMZLIES 50,000& * 30& 1,500
o2 EEE(3E3E)
50,000& * 6F * 43| 1,200
L M2 f2FH 1,309,754 1,309,754
201 LEt2A | 59,070 59,070
01 AFS 2teltl 59,070 59,070
OHFLAAE 2IOlMA 2
150,000& * 60 9,000
O MZ2lAIAE (LTA )20 Ml A
4,000,0009% » 1= 4,000
OHIAMNRE EE LAZEAN 43,900
OMicrosoft 0ffice Standard 2016
400,000& * 702 28,000
Ost# Il A 2018 &2 200,000& * 702 14,000
OsdtE=Zet2 9.0(01 2 XHPC)
38,000& * 502 1,900
OPCE 84l 31,0008 » 702 2,170
401 AlEHIZL 20 Y] 300,000 300,000
01 A& HI 300,000 300,000
OUESA ¥ S&3A 20,000,000& * 1042 20,000
O0IsSA S UWEolH 2o
200,000,000& * 10H 4 200,000
OARI S B At 80,000
2R A2 40,000,000 40,000
o= Mmels 40,000,000 40,000
405 XtatE S HI 950,684 950,684
01 AL ESFH SH 950,684 950,684
O#FMAFH ¢ 136,880
O=E = 1,400,000& * 780K 109,200
Oosezed 600,000& * 9K 5,400
O& = ALDI 5,500,000% = 1JH 5,500
Ozetzed 3,500,000 = 1JH 3,500




SH CHBHMSSEE ANYCAHDB
M BTCHY 29
2 SEEMS 2 ¥ 23 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OLE=SZREH 1,500,000& * 14 1,500
omA 600,000& = 14 600
OFSk=p) 500,000& = 204 10,000
o&AA 180,000 * 1JH 180
02N 500,00021 * 234 1,000
OSYHHAI X (UPS) 7
5,000,000& * 14 5,000
OEAMZE RFIDEH P& 291,290
ORIt D] 30,000,000& * 14 30,000
OBtE 2 X CHEILE 18,700,000& = 3K 56,100
OPE 0l E 7,700,0008 * 374 23,100
OAMEBO A2l /2H0IE D
3,000,000& * 7H 21,000
OXtsUELEI (82 E)
24,400,000& = 304 73,200
OXSUE LI (0101 8)
22,900,000& = 304 68,700
o=zl 600,000& = 9OH 5,400
OH#A=T| 8,000,000& = 104 8,000
Ogt2&=ZelH 1,650,000& * 104 1,650
OHtZE(QR)2IH 7 190,000 * 6IH 1,140
O32s=ed 3,000,000& * 14 3,000
OXAMY II2A3 10,900,000& = 12K 10,900
OEMEAUTENEE 1243
20,000,000& = 14 20,000
©O652! Xl LED V(23N A &)
1,600,000& = 20 3,200
(OFSPNEISCIRS PN 5,200,000& = 14 5,200
otz dyH P2 3,500,000& * 1K 3,500
oAglEss J1J 7Y 4,000
OU2Ed0lA 200,000 = 2J4 400
OovoEdoldE 1v 1,600,000& = 24 3,200
OovVDEdI 0l o 200,000& = 204 400
OUERKIZIAEH 2L 38,656
OL2A 2 Xl 2,416,000& = 9K 21,744
Of3adESAAX 2,416,000& = 74 16,912
Oz M I3 ¢ 432,058
O= A6 M AEH 832,000& = 404 33,280
O=A6H MO 00O 632,000& = 824 51,824
OSAHAMI 779,000 = 4004 31,160
O=4l5tAIt AEHH 530,000& = 2404 12,720
O=AHAMI 0 387,000 = 4804 18,576
O=AE MO oI 497,000& * 2404 11,928
O& Xl A It 867,000& = 1204 10,404




2N
X ZH -
L= B

el

U o0 1

0K =
o
x x 0"

a

il

MetE=e AYTAZ
ey
oje ¥ =y

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3t EH (M=) 3,300,000& = 304 9,900
Ot A (M) 7,000,000& = 504 35,000
ozga 25,000,000& * 14 25,000
O 28] 391,000& = 1504 5,865
O ZEpCH &t 280,000& * 4504 12,600
OAINASEE) 500,000& = 164 8,000
(ORIE=Fl} 800,000& * 174 13,600
OUXNERZA Rt 156,000 * 4504 7,020
OgeHos(62E) 461,000& = 1004 4,610
OSEEX 106,000& * 1504 1,590
O=H Xt 550,000& = 204 11,000
ogga AKX 137,000& * 1004 13,700
Ox=&ZE Ma 404,000 = 4404 17,776
O=Z& X} 69,000& = 1004 6,900
OZdl 171,500& 7K 1,201
ORI=FAR= 200,000& = 2204 4,400
OBl 300,000& = 344 10,200
OF < 300,000& = 144 4,200
OZXAEMA (M) 200,000 * 244 4,800
QIEl & 500,000& = 8JH 4,000
OXEE AKX 300,000& * 2104 6,300
Ozle=gHols 800,000& =« 14 800
OozHE AKX 400,000& * 74 2,800
OME 335,000& = 204 670
ozagxe s 315,000& * 6K 1,890
OdED 1,000,000& = 3CH 3,000
o1V 1,000,000 * 2CH 2,000
O2M MEII 1,000,000& » 104 1,000
OFSE=p) 400,000& = 2CH 800
OHMZ2I 500,000& * 1CH 500
O=z2g7J| 300,000& = 1CH 300
OCXE et 500,000& =« 2CH 1,000
o=2%&1 200,000& =« 1CH 200
OAIU (M) 2,000,000& = 204 4,000
OstdHel& (M) 800,000& = 30K 2,400
O0gola 3&tAIt 260,000& * 1204 3,120
Oolgola EXI At 126,000& * 64 756
O®oOtE X 177,7002 » 64 1,067
Ooeola Aga(Hz) 800,000& * 1K 800
OTVE & T 600,000& = 24 1,200
OddgHols 202,000& = 504 1,010
OIZ oA=& 650,000& = 304 19,500
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

O=AMAEel =S
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197,000& = 3
200,000& =+ 3CH
1,500,000 = 3H
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600
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o
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77,696
38,448
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OEAE2 UHESAK At
20,0002 * 4% * 1042 8,320
405 RH&HF S| 2,333 6,320 ~3,987
01 Mot 225 S| 2,333 6,320 £3,987
©1218 OfROIKIZA O 105,000 * 9 945
OZEH My 250,0008 * 20 500
© oIt 222,0008 * 40 888
NE2RT el 16,151 18,470 ~2,319
201 YEt2 | 8,256 7,560 696
01 At 22| 8,256 3,000 5,256
ORI A AAE 250,000 * 128 3,000
o4 - 24 X2l
23,0002 * 604 * 128 1,656
OZIIFFI KXl
30,0002 * 10CH * 12 3,600
206 T & bl 7,895 7,710 185
01 MZ I 7,895 7,710 185
OFABRISE(HBSAIS)
50,0002 * 8% * 13 400
0 U HABE(4S) 6,600,0008! 6,600
oY - 24) 252 16,5002 * 308 & 495
OAZE IleA 20,0008 * 2034 400
sHcASY 203,482 310,229 A 106,747
CAEREE 118,652 110,660 7,992
201 YLpte | 21,452 13,460 7,992
01 At 22l | 21,452 13,460 7,992
oINS R== 13,460




SN CARBMSSEE QST
M ZDCHY 29
SE R EEPEEE EEREED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O 15,000& * 1500 AF = 12& 2,700
ORI K] 13,000 = 10JHAF = 128 1,560
OZF=2tX] 5,000& * 1000 AF = 523 2,600
O &2t 11,000& = 50 AF = 128 6,600
ootzax=4| 1,110& = 7,200 7,992
206 M = Hl 7,200 7,200 0
01 X2 bl 7,200 7,200 0
OEMEC 23 7,200
ORFID TAG 500& = 7,2000H 3,600
Octd S X2 9& 500& = 7,2000H 3,600
405 XH&HF S HI 90,000 90,000 0
02 S A7 90,000 90,000 0
O&EAM 12,500& * 7,200 90,000
CAEE2SEZNHE2A 39,265 35,890 3,375
201 Bt A H| 34,165 34,290 N 125
01 At 22l bl 2,800 2,800 0
(OEISISR2PN 2,000& = 1,000& 2,000
OENZ EB= 2,000& * 400% 800
03 A2 EH| 31,365 31,490 N 125
OsSMSsE)H 29 27,500
O A=
35,000 x 2Al2F = 24J8F = 153] 25,200
Os=2239d =38 HII=29
500,000& =* 23] 1,000
OZe3te 70,000& = 10H 700
OEzH 2HEES 300,000& = 23| 600
O=sEMs0tel 4 1,465
O=HESH
35,000& * 2A12F x 204 BF x 63 840
OEEEs T A7Y 12,500& » 10& x 5& 625
0o =zs E& 1,000
OLAEE 500,000& = 23| 1,000
O M2 =2t At 700
OLAEE 500,000& = 13| 500
OEz)dH HEE MEH|
200,000& = 13| 200
OSSN & A 700
O A& 500,000& = 13| 500
OEzdH 2HEE MEH|
200,000& * 13 200
301 dEtE A= 1,600 1,600 0
09 HAIAH EA = 1,600 1,600 0




SH CARBMSSER QBT AP
IM: BTSN 2Y
©el: EHEANBRY CERED
CEHE .S (3H) - MBAY - B2 il HDS2
O2sZ=Z2 1Y XNIFSALA S|
8,000& * 10¥ * 203 1,600
405 XH&HF SHI 3,500 0 3,500
01 A&t = S F SHI 3,500 0 3,500
OHICIZ 2N 3,500,000& * 1JH 3,500
AAegzsaesd 20,995 60,522 AN 39,527
201 et A | 1,835 1,835 0
01 AFR22t2l Yl 1,570 1,570 0
oZeglH EY 220,000& = 5CH 1,100
OZ2AJ] EYH 260,000& * 1CH 260
O=2AMEX 21,0008 = 10&8fA 210
02 33249l 265 265 0
@)==lR=R == 265
Ost=2= A 115,000& 115
O A& 150, 000& 150
206 M =8l 10,840 10,840 0
01 & bl 10,840 10,840 0
otz IS 5,940
o=t 1,500& * 3,00074 4,500
Oate =Zegly 2= 80,000& * 15JH 1,200
Ot Tl 224y 10,000 = 2404 240
OXNsSUSEE) 945 X
3,000& = 1002 300
OAIE2E It A 20,000& * 204 400
OmEEANM B HOlZ 150,000 = 102 1,500
OANIIE SHE 3,000& = 1004 300
OXZ Al AFQL AlAE 100,000& * 2004 2,000
O 2YH)| 40,000& * 1094 400
301 Bt A= 8,320 8,320 0
09 HALAHIEA = 8,320 8,320 0
O ANME2 KNJASAA ABIXA
20,0003 * 48 « 104 8,320
H=8 X2 24,570 10,921 13,649
201 LEt2 A Y| 8,340 4,740 3,600
01 A2 22l 8,340 3,000 5,340
ORo1dHl AAE 250,000& = 12& 3,000
O3JI&8#&I| X &l
37,500& = 8§ ~ 12&€ 3,600
O - 240 X &l
30,000& = 404 ~ 128 1,440
OHASI| 2l 300,000& * 13 300




SN CARBMSSEE QST
M ZDCHY 29
EczhERY )
SH-HH . B(SH) - HBAMY - B2 il 2
206 M = Hl 6,230 6,181 49
01 & bl 6,230 6,181 49
O&d%) SEH 16,500 * 208t A 330
OFANZZIEE(EH 8%)
50,000& * 8= 400
Oz&a 5 A& 5,500,000 5,500
405 XHakF SHI 10,000 0 10,000
01 A&t =S F SHI 10,000 0 10,000
og=2&as)l 10,000,000& = 1CH 10,000
ST ALY 110,812 127,325 £ 16,513
N2 ES 63,100 58,660 4,440
201 Yet2 | 9,100 4,660 4,440
01 AP 22l Yl 9,100 4,660 4,440
OFII2HZE P =SHI 4,660
O 15,000& = 3JHAF = 128 540
ORI X 13,000& = 5JHAF = 128 780
Oootsd & 5,000& * 3IHAF » 12& 180
OF2HX] 5,000& * 2IHAF x B2== 520
O 22X 11,000& * 2000 AF * 12& 2,640
ootz x=dl 1,110& = 4,000 4,440
206 M= Hl 4,000 4,000 0
01 & bl 4,000 4,000 0
O=ANE2ES 4,000
ORFID TAG 500& = 4,000H 2,000
Octd S X2 95 500& = 4,000H 2,000
405 XtakbF SHI 50,000 50,000 0
02 &M+t 50,000 50,000 0
O&EAM 12,500& = 4,000 50,000
N2 E2)H2A 21,660 21,860 A 200
201 LEt2 Y| 20,700 20,900 A 200
01 A2 22| I 800 1,000 A 200
OSSN E 2,000& * 4008 800
03 SHALS H I 19,900 19,900 0
O=ENEsEZ2 1 16,100
O2Z A=
35,0002 * 2A12F = BIHEF * 243 13,440
OSdatEe 70,000& = 8JH 560
omz)dH &9 300,000& * 23] 600
OdJl ots=¢ =9 500,000 * 33 1,500
OEANZAEU SAM 2,000,000& * 13 2,000




SN CARBMSSEE QST
B RIZCHT 29
Sl NEBCAHBRY (el:de)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O A2 F2t AL 500
OLAEE 300,000& * 13 300
OgMNESY AZ2EH| 200,000& * 13 200
O=sAMo & At 1,300
OgAMNESY AZ2EH| 200,000& * 13 200
Ox3ds9H 500,000& = 13| 500
OZ A= 300,000& * 23] 600
301 dEtEAZ 960 960 0
09 HALAHIBEA = 960 960 0
O2ZT=2 0¥ XNIFSAA S|
8,000& * 10¥ * 123 960
AAzgesds 29 18,145 38,718 N 20,573
201 et A | 1,510 1,510 0
01 At 22l Yl 1,245 1,245 0
OZeHEUY 220,000& * 44 880
O=AMIENH 260,000& = 1JH 260
O=Z2AEX 21,000& * 58 A 105
02 33294l 265 265 0
Ogo3eregd=3 265
Ost== M2 115,000& 115
OB A 150, 000& 150
206 M = Hl 4,475 4,480 A5
01 M= bl 4,475 4,480 Ab
OUHE3ldS 2,850
ousote 1,500& = 1,0004 1,500
OJtezmZely 2ls 80,000& * 15H 1,200
OotezZele 224 10,000 * 1504 150
OAIIE SHE 3,000& = 604 180
OCM Ex=Z2 HEY 150,000& * 58 750
OXZ & A= 100,000& = 54 500
OXzal IIBE 2 25 65,000& * 34 195
301 dEtE A Z 4,160 4,160 0
09 HALAHIBEA= 4,160 4,160 0
O AME2 KNJASAL 2SA|
0,000& * 2% * 104 4,160
405 XH&kE S| 8,000 9,200 ~1,200
01 M =S FSHI 8,000 9,200 A 1,200
O A I} 100,000& * 10JH 1,000
OEM A= 7,000,000& * 1CH 7,000
ANEEF X &2 7,907 8,087 A 180




SN CARBMSSEE QST
M ZDCHY 29
Sl NEBCAHBRY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
201 Bt A | 5,340 5,340 0
01 AP 2t 2l Yl 5,340 3,000 2,340
OR01AH AIAE 250,000&  12& 3,000
O3JI&8EI] A2l 30,0008 * 4CH = 12& 1,440
oY -2 FA2el 25,0008 = 3CH = 128 900
206 M= Hl 2,567 2,747 A 180
01 X2 bl 2,567 2,747 A 180
Ox&a ¥ HALES 2,402
ERR=IN 7,000 * BIHA + 128 504
O & X 3,500& * 58 x 64 x 128 1,260
oMgIlIsE 1,770& = 3000 ~ 12& 638
od - 240 SEH 16,500& * 102t A 165
Z2UHEAZ 29 138,683 296, 866 N 158,183
SN ES 71,900 99,860 N 27,960
201 et A | 17,900 13,460 4,440
01 AFR2t2l Yl 17,900 13,460 4,440
oO&JIIZHME =T 13,460
O X 15,000 * 1500 AF = 128 2,700
O Xl & Xl 13,000& * 1000 AF * 12& 1,560
O& 2t 11,000& * 500 AF = 128 6,600
F=2HX 5,000& * 100HAF x 523 2,600
ootz 7= 1,110& * 4,000 4,440
206 M = Hl 4,000 6,400 A 2,400
01 Ml 4,000 6,400 A2,400
OEANE2ES 4,000
ORFID TAG 500& * 4,000H 2,000
Octe SXI2 95 500& * 4,000H 2,000
405 XH&HF SHI 50,000 80,000 A 30,000
02 &S A7 bl 50,000 80,000 A 30,000
O= A 12,500& = 4,000 50,000
CANZ2sEZ2)HSH 29,050 30,590 A 1,540
201 2yt 2 Y| 27,450 28,990 A 1,540
01 AFR2t2l bl 5,000 4,000 1,000
OsN=2E 2,500& * 1,000% 2,500
OEANZ E82= 2,500& = 1,000% 2,500
03 S AIS H H| 22,450 24,990 N 2,540
OsSMSIEZ IS 29 19,410
OZ A=
35,000& = 2A12t = 18I 8t * 153] 18,900
@)=E=4 70,000& = 34 210




SN CARBMSSEE QST
M DDA 29
ool FUSHE 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ20Y 2ZALE 300,000& = 13l 300
CHEEHNAANES 2208 29 1,140
OZ M=
35,0003 = 2AI2t = 1JHEE « 123 840
OZ20Y 2HALE 300,000& = 13l 300
O AMZt=2F #AL 600,000& = 13l 600
OSHNALY HA 600,000& * 13 600
oo =zs 5& 350,000& = 23l 700
301 et A3z 1,600 1,600 0
09 A HIE &S 1,600 1,600 0
O=A=2s Z208 TS AL =4l
8,000& = 10 = 203l 1,600
AzgEga2d 22,155 59,682 A 37,527
201 et 2,335 1,835 500
01 At 22l 2,070 1,570 500
OZgH EH 220,000& = 504 1,100
O=AIl EYH 260,000& * 1K 260
O=AI EY 500,000& = 14 500
O=AMEX 21,000& » 10 A 210
02 2324l 265 265 0
Og2sRg= 265
Ot M2 115,000& * 13l 115
O3 M2t 150,000& * 12l 150
206 TH 2 HI 10,800 10,800 0
01 MHZ 4l 10,800 10,800 0
OEAMUEES 5,850
O3 & 1,500& * 3,00004 4,500
O3JA&L= ZelH 2l 80,0003 * 1504 1,200
OdleE=2ey 10,0002 * 1504 150
OXzZ A A= 100,000& * 207K 2,000
OFJIIZHEA IIEE2Q 28 55,0008 » 10 550
OFSEP R~} 10,0002 * 504 500
OENE+=E HOZE 150,000& * 28 300
OXslsEegl =5 EX
3,000& » 1008 300
OMII SHE 3,000& * 30004 900
OF=3-3:1 9] 40,000& = 1094 400
301 g2 L= 8,320 8,320 0
09 HALAHIEA S 8,320 8,320 0
OEMEel XNFSAX 2S4H|
0,000& = 48 = 104 8,320




2N
X ZH -
L= B

el

0¥ 08 N

NBBYSE2S 258G
BTN 2Y
HEND 29

>
el

A - ER(EN) - AR - B of & o4 SSa HIDZ2
405 At&tF S HI 700 0 700
01 A =S FHSH 700 0 700
Ob5& SH A It 700,000& 700
ANEE=A 2 15,578 14,498 1,080
201 fEt2E | 9,480 8,040 1,440
01 AtR 2t 2l | 8,880 2,400 6,480
O FHl AIAE 200,000 * 12E 2,400
Od - 2+J |A 22l
30,0008 = 3CH » 12& 1,080
O3J1&&EJ| =X&eldl
70,0008 = 4CH » 12& 3,360
OM&Jl FX22 50,000& = 1CH = 128 600
oHldl dg % S 2Ae
30,000% = 400 ~ 128 1,440
02 832gl 600 5,640 25,040
(CF=32 = = EN 300,000& = 23 600
206 =8l 6,098 6,458 A 360
01 M= Hl 6,098 6,458 A 360
odMEE (322 38) 50,000& = 504 250
OFABRABE(FBS ATE)
50,000 » 85 * 13/ 400
oxzyd & F2E3 4,918
Ogehl 7,000& * 104 = 128 840
O3 &K 3,500& * 82 » 100 » 12& 3,360
oMdIISE 1,770 = 3004 = 123 638
OAl==Hl 5 800& » 1004 80
odz=+I 54 16,500& » 209 A 330
OAt= g et 20,000& 1094 200
SHTHRERY 110,661 198,611 £87,950
CA2NEES 66,520 62,080 4,440
201 Lt 2| 12,520 8,080 4,440
01 At 22l bl 12,520 8,080 4,440
oxJIZd=R= 8,080
(OX3 9N 15,000& = 1000 AL » 12 1,800
OXIXR 13,0008 = 15JH AL » 128 2,340
O&z2tX 11,0002 = 2000 AF = 128 2,640
O==2tX 5,000& = 5JH At * 523 1,300
O0ta =l 1,110& = 4,0002 4,440
206 =8l 4,000 4,000 0
01 M= Hl 4,000 4,000 0
O=NE2ES 4,000




2N
X ZH -
L= B

el

Jo o8 N

HeBMuss=s 98
BTN 2Y
NEVELE-

x

1=

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ORFID Tag 500& * 4,000H 2,000
Octd sk 95 500& * 4,000H 2,000
405 X+H&HF SHI 50,000 50,000 0
02 & A7 50,000 50,000 0
O=ENM7¢ 12,500& = 4,000 50,000
CANZEEZ)HSH 26,080 26,150 AT0
201 et A | 24,480 24,550 AT0
01 AFR2 2t 2l Yl 4,000 4,000 0
OsSAEZE 2,000& = 1,000%8 2,000
OENZ EEB= 2,000& = 1,000% 2,000
03 SHAtS H b 20,480 20,550 AT0
OSHMRIEZNH 2 16,810
OBA+E
35,000& * 2A12t = 15J Bt x {53 15,750
Og =5 70,000& = 8JH 560
Ox=d dJlsd 500,000& * 13 500
OFEFUNYS T2 29 1,370
OZ A=
35,000& * 2A12F = 1JHEF % 103 700
@)=E=4 70,000& = 1JH 70
OZRIY2Y 428 2
300,000& * 23] 600
OelZs AA73 350,000& = 23| 700
OZ M2 =2t AL 800,000& * 13 800
O=sAMaY A 800,000& * 13 800
301 dEtE A= 1,600 1,600 0
09 HAIAHI EA = 1,600 1,600 0
OSZ=z 0¥ XAJASALA 24HI
8,000& = 104 * 203 1,600
hegsaesd 10,590 56,952 N46,362
201 LEt2AY| 1,835 1,835 0
01 AFR2t2l bl 1,570 1,570 0
oZglyH EY 220,000& = 504 1,100
O=2AI EYH 260,000& * 1H 260
OEANEX 21,000& * 102+ A 210
02 352494l 265 265 0
@)=IR= Ry =g 265
Ost=2Z M2 115,000& 115
O M2 150, 000& 150
206 M=l 4,595 4,455 140
01 &2 bl 4,595 4,455 140




SN CARBMSSEE QST
M BDCHY 29
el SUTHERY (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OU=E3dS 1,950
O&3te 1,500& = 1,000H 1,500
ONEZZE 2l 80,000& * 54 400
OJtEXZelyH 22l 10,000& * 50H 50
OXrZ &l AFOTAIAE 100,000 * 3M 300
OEAE=Z2 HOIXZ 150,000& » 28 300
ONnSUEEEI E==F EX 3,000& » 505 150
OAMIt SHE 3,000& = 2004 600
Od=ZH=Z 10,000 * 500 500
O M EH| 40,000& = 34 120
Oz 4a PCRY 325
Odll EA 35,000 * 50H 175
OIJIEE 15,000& * 50H 75
oot 15,0002 * 54 75
OAMSEIIZHA 20,000 = 504 100
OE=+& RFIDEHO 500& = 5004 250
301 L2 A= 4,160 4,160 0
09 HALAHIE& S 4,160 4,160 0
OEMERl XMFSAX 2354
0,000& = 28 = 104 4,160
NEER X2l 7,471 7,311 160
201 L2 | 4,080 4,080 0
01 At 2t 2l 4,080 4,080 0
ORI AHIAAE 200,000&  12& 2,400
oOd - 2=J KA el
30,0003 = 304 » 12& 1,080
O3JI&8FI| *RX el
25,0003 = 200 » 12& 600
206 M= Hl 3,391 3,231 160
01 =8l 3,391 3,231 160
OEMZEES 50,000& = 10& = 33l 1,500
oz & HAES 1,726
oMol S (100L) 1,770 = 3004 » 12& 638
Ost&E X 3,500 * 68 » 40 « 128 1,008
OHMl ==t 5 800& = 1004 80
od . - 2J =5FZ 16,5003 » 102 A 165
HE2AIH(EA2EMSSE2E 2ET M) 1,085,531 364,006 721,525
=2 217,872
< 108,936
Al 758,723
ol 2| 771,542 40,936 730,606
=2 217,872




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 108,936
Al 444,734
ol 24| 328,998 40,936 288,062
101 @14 Hl 328,998 40,936 288,062
03 RIAHAZZAE S 328,998 40,936 288,062
OLET AN Xgd 32 B(29) 46,822
ool 66,8003 * 2% * 26 » 123 41,684
O4UHEE = 4,338
-2z 41,684,000 = 4.5% 1,876
-HLYEE= 41,684,000& » 3.12% 1,301
-HIIRSEBES 1,301,000& * 7.38% 97
EIE=Jh= K= 41,684,000& * 1.5% 626
M EEE 41,684,000& * 1.05% 438
OFE FItHI 200,000& * 2% * 23| 800
OMAS N2 XE2d 323 B(3Y) 73,235
Ol | 66,8003 = 3% = 262 » 123 62,525
C4=2Eg= 6,504
-2z 62,525,000& * 4.5% 2,814
-HLYEE= 62,525,000& * 3.12% 1,951
“HIIRSEEE 1,951,000& * 7.38% 144
EE=Jh = N=d 62,525,000& * 1.5% 938
-MHEE S 62,525,000& = 1.05% 657
OFEFItHI 200,000& = 3H « 23| 1,200
O¢ItE &I 66,800& * 152 = 3H 3,006
OEH T ANZ H2d 27 24(2Y) 46,822
(@) Fal:] 66,8003 * 2% x 262 » 12& 41,684
O4UEE = 4,338
-=20dZ3 41,684,000& * 4.5% 1,876
-HAEEE 41,684,000& * 3.12% 1,301
-} RLSBEE 1,301,000& * 7.38% 97
-IEEEE 41,684,000& = 1.5% 626
-MIHEEE 41,684,000& = 1.05% 438
OZEFOtHI 200,000& = 2% =« 23| 800
orgsc A s B2 E2(19) 23,412
(@) Fal:] 66,8003 * 1Y * 262 » 12& 20,842
O4UEE = 2,170
-=20dZ 20,842,000& * 4.5% 938
-HAEEE 20,842,000& = 3.12% 651
-} RSBEE 651,000& = 7.38% 49
-IEEEE 20,842,000& = 1.5% 313
-MIHEEE 20,842,000& * 1.05% 219
OE &= 0tHl 200,000& = 1H « 23] 400




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZUEANZ UHzas SR E4(29) 46,822
(@RiRal:] 66,8003 = 2% = 262 » 123 41,684
O=8d3 41,684,000& * 4.5% 1,876
OFaRzg-h= 1= 41,684,000& = 3.12% 1,301
OFIIRAEE= 1,301,000& * 7.38% 97
OCLEEE= 41,684,000& = 1.5% 626
OMTHEE = 41,684,000& = 1.05% 438
OZEFOtHI 200,000 » 2Y « 23] 800
OSUET NS IH2d S2F E5(2Y) 46,822
Ol 66,800 * 2H * 269 * 123 41,684
C42Eg= 4,338
=03 41,684,000& * 4.5% 1,876
-HAEEE 41,684,000& = 3.12% 1,301
-} RLSBEE 1,301,000& * 7.38% 97
-IEEEE 41,684,000& = 1.5% 626
-MHEE=E 41,684,000& = 1.05% 438
OG &5 tdl 200,000& = 2H =« 23| 800
OLETNE B2A E(19) 45,063
OPIR--= 2,657,410 * 198 * 123 31,889
OF=E=F = 132,870& * 1H » 123 1,595
O&E=¢ 120,000& = 1H = 12& 1,440
O= &l 130,000& = 1€ = 128 1,560
O&d=+< 50,000& = 1¥ = 12& 600
OFEFOtHI 1,328,700& = 1H * 23] 2,658
Oxzh2Zf=E
18,330& = 15AI2t = 1H « 123 3,300
OHIE &l 101,040& » 198 = 202 2,021
TTCHE DAL A2Y(238) 104,128 0 104,128
= 51,264
< 25,632
Al 27,232
101 @124 104,128 0 104,128
= 51,264
< 25,632
Al 27,232
03 RIAHAZZ2TE = 104,128 0 104,128
O3RA2ZX B4(4Y) 104,128
ool 2,136,000& » 4% » 128 102,528
= 51,264
< 25,632
Al 25,632
Og &5 tdl 200,000& = 4% =« 23| 1,600
TTENB NBAIZ AZ2H (M) 104,128 0 104,128
= 51,264




2N
X ZH -
L= B

el

oY 0z
[= =T
m i3
> M
i
]

08 FO
0z OF
Jor 4
oy >x

My

o 02
18 0x >
i
o
oF
H
>
s

H0 Mo e

02 02 oF
=
m
40
r_)‘-l_l
10

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

25,632
27,232

= H

101 1Al 104,128 0 104,128
51,264
25,632
27,232

= M W

S
=

Y M 1Q
rJ

- A

h
4

104,128 0 104,128
2= 104,128
Hl 2,136,000& = 1238 * 4% 102,528
51,264
25,632
25,632
1,600

© -0
° 10
Y]

O o

= MW

O
02
1}
o
A=
=S
N
o
e
o
S
S
o
*
~
02
>*
N
fon

0K
0R
il
x
]
2
]
>
e
e
0
Ho
02
0[O
i

104,128 0 104,128
51,264
25,632
27,232

=z MW

101 @124 bl 104,128 0 104,128
51,264
25,632
27,232

= H W

= 104,128 0 104,128
b E2(49) 104,128
]l 2,136,000& = 498 « 128 102,528

51,264
25,632
25,632

Og 2 =Fotdl 200,000& * 4% = 23 1,600

=z M H
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OF NS A =Xl 2eld]
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01 201l 07,648 31,104 3,456
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A & 0l & A & F Al
20198 &= ES0l& LB H SAHZBYHSISER AEEM2 ~ SMels=2] Bysisa
SN CHRBMSEE HySsD
M HMsts D
S ETMDS 29 EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CHRBMHSSER Blsis 1,291,876 1,159,589 132,287
gMsts 28 1,067,758 966,046 101,712
g Edus 29 754,756 696, 245 58,511
HEE AL &3 =4 205,906 194,655 11,251
206 M= Hl 4,654 4,654 0
01 MHZ 4l 4,654 4,654 0
O E &
3,700% * 38 » 12014 ~ 123 1,599
oMY IISE(FA228) 1,833
oMgII=& 1,770& = 70 = 128 1,487
OSAEMYI ERE5(Rald)
3,600& = 8 » 12& 346
OAE22E 223 1,222
OXETHM 25,000& = 134 325
OHEII XM 69,000 * 1324 897
307 21201 A 169,628 127,843 41,785
05 RIZt2IEt = 169,628 127,843 41,785
OHAY 849H 2,827,133& » 5F 128 169,628
401 Al HI K 201 I 31,624 62,158 A 30,534
01 A& HI 31,624 62,158 A 30,534
OHEMRANESE 4,825% x 6,554m 31,624
BHMIEEI 357,676 341,965 15,711
101 @124 dl 26,848 10,345 16,503
04 JIZHHZ22XREE S 26,848 10,345 16,503
OBMSST2IYSE NA(1H), N2
22 (12) LR
ool 66,8003 * 2% « 26& » 73 24,316
O=RdsRE= 24,316,000& * 4.5% 1,095
OHLEEESRES 24,316,000& * 3.12% 759
OEINLAEEEZRLES  759,0008 * 7.38% 57
OL=EE=RE3 24,316,000& * 1.5% 365
Ot EEEZRES
24,316,000& * 1.05% 256
201 et 317,588 312,400 5,188
01 At 22l 307,618 302,910 4,708
ousdM2y 222 M 14,600
Oote &8 2285
350& = 2,00001 = 23l 1,400
Ot =2 L8 USE
400 * 2,00004 = 23 1,600




SN SARBMSSES BaSSD
M HMsts D
ool ARABWMIS 2 CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OnSM 98 ZAH o= AN
4003 = 11,00001 = 23l 8,800
OUSM 27 oo
70,0003 = 2000 = 23l 2,800
CEMUE LA+E
35,0003 » 821t= * 323 * 3AI2 275,520
O'GtotEe 3 'HIOISZ 2AxE
350,000& * 51t= 1,750
OX2ASZE SU AA+T
350,000& = 3= = 23 2,100
OBMNE IMEE HERAE A=
100,000& = 3% = 2¢& « 23| 1,200
Ousd A 400 * 3,000 = 23| 2,400
Ost&Hl HEZH =2
100,000,000& * 3% * 23| 6,000
OUEE 2ZEHN 4,048
OPCE HAZ A (WSH L IEHUSH)
2,000& * 492 1,568
Ostd I A 2018 230,000& * 42 920
OMS 0ffice 2016 390,000& * 42 1,560
02 =24l 4,770 3,990 780
OuwsZd & MAEH KX 2e 1,650,000& 1,650
OYsZHl KAl 39,000,000& = 8% 3,120
03 A2 S HI 5,200 5,500 A 300
Oousd & Bdstssotel IS8 =AM
2,600,000& = 23| 5,200
206 = Hl 8,900 8,900 0
01 =8l 8,900 8,900 0
oela & 24 JIXHIH 8,900
Oxcld NsME 700,000& * 53 3,500
OZoy WEME 500,000& = 63l 3,000
O=+=25 4002 * 3,000 * 23 2,400
301 et a s 2,240 2,240 0
09 &AL HI B &S 2,240 2,240 0
Osis2H3 ZHILA =44l
8,000& = 509 « 23] 800
O=d&FA A S4H 8,000& » 0H * 23] 1,440
405 XtatFE SHI 2,100 8,080 25,980
01 AR ESFH S 2,100 8,080 25,980
o4 2Rt 70,000& * 300H 2,100
AYERABMHNSE 2 70,224 0 70,224
201 Zet24E] 61,608 0 61,608
01 At 2t 2l 41,760 0 41,760
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Hu: guss Do
Ool: RABMIS 2Y CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
CEEFESES=
35,000& = 10= * 323 = 3Al2t 33,600
ounsdM FF 400 * 3009 = 23 240
OdJ|etdzte] Y === 210,000& * 128 2,520
oAsgordate] Hd +=+5 200,0008 * 128 2,400
OBARAAY ALY 242
250,000& = 12& 3,000
02 =224l 19,848 0 19,848
OCHYRZ3 50,000& = 12& 600
(CFSPIR=E=; 1,300,000& * 12& 15,600
O&ot=ER= 200,000& = 12& 2,400
ode=+Il | 2l
52,0003 = 2CH » 12& 1,248
206 M = Hl 4,673 0 4,673
01 =8l 4,673 0 4,673
oZ24a JIXM 2,240
OZo4 Wz 500,000& * 43 2,000
O=23 4003 * 3009 = 23 240
OstaAE &
3,700 * 48 * 200 + 128 356
OZTHH=E (FA228)
1,770& = 50& ~ 123 1,062
oANg2eE ARF 1,015
O™ J| Xt T4 69,0002 = 104 690
OXYTHM 25,0002 = 1304 325
401 Al Bl 2B 3,943 0 3,943
01 A& HI 3,943 0 3,943
OFALAIE R Xt 4,825%® = 817m’ 3,943
NIAZ2EYI=S2Y 120,950 159,625 A 38,675
201 Let2d] 104,626 110,931 26,305
01 AF2 22| Hl 72,240 73,466 A1,226
OBMuE ZAs=E
35,000 * 190t= = 323 = 3AI2 63,840
COunsd HF 400 * 60098 = 23| 480
oO&JletM e el ==+2 210,000& = 12& 2,520
oAagordzte] Hd === 200,000& * 128 2,400
OFEAMRAZH ALY =2
250,000& = 123 3,000
02 8323l 32,386 37,465 A5,079
OQHY 23 30,000& = 12& 360
(OFSPIR=E=; 1,900,000& * 12& 22,800
Oudot=ER3 200,000& = 12& 2,400
O2& 8 altl 210
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OAgord 2te| Xt 210,000& * 13 210
ONAEBAI==2 30,000& = 13l 30
OAEZHI S X 5,303
Od2=+I= X2l
47,300 = 300 * 123l 1,703
OHEZAMRINI SN 2el 400
RPN E=YN ] 5,000,000& = 1CH = 8% 400
Ogs&Edl =X 22l 40,000,000& = 8% 3,200
O & At S| 76 * 2,000m * 63 912
O&¥stx HEA 14,000& = 26.5& * 13/ 371
206 = Hl 7,311 7,311 0
01 MHZ 4l 7,311 7,311 0
Ooecla & 24 JIXH 4,000
OReld sz 450,000& * 83 3,600
(OF K= 400 * 50098 = 23| 400
OSHAE &
3,700% * 48 » 54 = 128 888
OFA 228 AR2F 1,408
oMy IIsE 1,770& = 50& » 123 1,062
OsSaASMyIIgREES(2:24)
3,600& = 84 » 12& 346
OANg2eE8 A5 XM 1,015
O& I AHM 69,0003 = 104 690
O T 25,000& = 1304 325
401 A& HIZ 201 I 7,913 27,797 A 19,884
01 A& HI 7,913 27,797 A 19,884
OFAANE RRNE=> 4,825% « 1,640m 7,913
405 TtabH S| 1,100 3,000 A 1,900
01 MHare 22 S| 1,100 0 1,100
OZOrAZEII(R2lA) 1,100,000% * 1CH 1,100
gdstsUHERD 2t 313,002 269,801 43,201
gMEs2Y 183,740 132,046 51,694
101 @124l 15,040 11,726 3,314
MIIAH2ZNES S 15,040 11,726 3,314
OBMsLNY TRIY 29 o 15,040
OHIEY HMDSAL o2
74,8403 * 19 « 26 « 73 13,621
O=0d=z2E=3 13,621,000& * 4.5% 613
OAHLE2E=RES 13,621,000& * 3.12% 425
OFIRYBESZRES  425,000& * 7.38% 32
CLEEE=zRE= 13,621,000& * 1.5% 205




e
oF
aJ

71

4

iior

20

= ol

b_v _Jo

Hoom

D, oF

_,pﬁ_,ﬁ )

T =

< jn)

0 <D <D

A ol ol

T 020

H 10 m0

X &l oF

Ik RO )

o o o o o o o o o o o
[eN) [eN] o o o o < <t o o o
S |2 S S S |2 < | S S|e
A0 o | o N o o |lo < | < < o | o
Ko - A < <
E
=)
o o o o o o o o o
e} oo} o o < < [« o o
< — o [ep] [ee] [a\] © o o
z |3 “ 3 = | > 5 |5
H3r -
uilEd!
Pdk=
<t o o o o o o o o o o o o o o o o o o o o o o o o o () (e} o o o o o
<t o o o o o o o o o o o o o o o o o o o o o o o o <t (o] o o o o o o
RS & & S ~&S W S B»S S ®5 o & 9lS5|s SI¥|le S O 8§ o ®|S|S
— < (ep] — < (o] o (e)) — Te) <t <t o o o (V) — o (=) o [ — o) [Ye] < © [<o]
m [ ™ — — <t — ™ < < <t [¢e} ©
ar
<
=
) S ©® ™o oo™ W~ ol o ™ ™ o id o o ol
o o o =) o o o A <o — - o — S\ T o N © N O
. o o [Ye) [ep] — ™ — — o <t
— ™ [es) [Se} * = x * * * * TS * * * e
- x x x £ 3 _.A_| *x - _
LU T Y e m a® =0 W W W W S 5 D@ K
v | @ w * ~n BE Yg ETg g8 8%&8 8 =2 =8 ©8 S @
o o = — S < & S =S S S S 5 S =~ o D *
BJ S S o o+ < x O N - S = . - - S - - o 5 wox M0«
S S o W - o = o o - o o Rl 0 *
. - - S ¢ - o x O o <o S S o o S = M = 4o
— o HS T o« NN %) D AT S S S & re) ol o Koy =
ol & - - =z _ = o N < s C N oD .8 8 -5
et s Al | N 30 S ——— - o <D 4 KS 1S x S
< ™ o N S 30 S n M 0 = K= S
o+ - RD 8 * < S — e @ [,
- no - > < o M oF m K0 oy o —
= 0 = H Q = [ o © = o 20 30 mn s
R 0 i c 8 a T T g 4D o o 20 2
~ |y = 7 et w ° or " ) n M &
= o o3 ® B o <k = {D =S -
0 ke < < =4 oF i o @ =
o < w® = S u ~ =] o S a0 = | w
x |B H R o T o {m ~ ) mo 20 il =3
& = T | <D AbD ~ <l ol JF E=) ™~ =) ro {ID {ID no <o 20 | 3D
3l B0 |/ wor dor Sk K0 B ) 30 S ol =< <0 ol ol 20 ol | < |’
H. < 0 [F 20 20 Kk 8 ) W 010 0H Kr = KF iy %0 20 H 0 || o
N (CTN -T : MBOO0X 5 R0 tlr® |z ® ® @ ®O 0| A
RO al | © © © © © © M0 © BJ © ol © © ~ © 0| 3
. — | = au N~ — N wor | o~
= KRN < & & T 3 | S
I+ 70




e
oF
aJ

71

4

iior

20

= ol

b_v _Jo

Hoom

D, oF

_,pﬁ_,ﬁ )

T =

< jn)

0 <D <D

A ol ol

T 020

H 10 m0

X &l oF

Ik RO )

o o o o [o0) o o o o o o Ye] < <t <t <
o (V) O © o o N~ N~ N~ N~ N~
Oy A A - < < _.Oy ™ ™ a5} a5}
20 o — | o |o < | < o
N A [aV] [eV) (ep]
Klo
E
=)
o o o o o o () o o Al [aN] o N~ N~ N~ N~
o o o o D — — o o (o)) ()] <t [ep] [ep] ™ [ep]
o o o o ™ (o)) (o)) <t <t — — Ye) [aV] [aV) (V) [aV)
~ cl|lo|o <|o o o | o |loc|o|o|o
_|_n_un—. Te] [aV] [aV] [aV] < (e} [aV] ..Olu < < < <
[e]
m
RS
o o o o o o o o [aN] o (&) o (e) o o o o o o [aN] [aN] [aN] o] — — — — — [ee] o
o o o o o o o o © N~ N~ (@) o) Al [00) <t o o o ()] ()] (o)) — — — — — — < o
S & & 9|8 |g8|e S|d| ol ¥ ® o 0 0 <~ S5 S|~ |7 T =m|le|le|le|le o «o &
(<o) o N~ (e)] o o o o (ep) — — () © o N N N < <o) <o) <o) <o) [<o] o —
© < — SV RSV eV | F | < | = < N — NI DEBERERER ™
=
o
<
=3
Ay NN ol I ¥oD IO D o] /I
% o < ™ o o = = = N A
M =] o [ ~ ) -
A_ s * < S <~ < = _ * . x
!
r e R - * @ . . N 2 80 0 5
5 g 23 8 5 B 3 B ’ e 5 o
Al Al < <8 - 0= S - 0 0 [zal o - x %
a1 WS R3S o K- . * o AR & ®
= (=t ™ o oL = ol o * S | wr 2 S
__AT ¢ W mw S =R ™ m o s | SI=1
ull oF = = 0 M i R 5 N x " m = 50 W =
= = + = o N o =g =S =
— = ) Ul ~ ™ F< =< 3 or 2 = il J
= |42 w & = woow o S £ mo| M_ ~
g (v F 0 g s T T O <+ o mo |9 = M
= = _ 3 ol - 4 o9 m Y 4 Mo 3 o .
F |2 n ) = = = T SRS =% T 20 T mm W ow 2 &0
5[0 5 @ |z|s|zr |o|s|(z @ @B ES w03 S ) B T B oK<k
g 20 W~ W W = |8 |T o | B0 [m B W W R KN o LR i s M M
- R0 I or | o |F0 oK Tl |m 2 D A0 E T |z 2 o | 2 0 o =
R |2 moM wr  ® ERER L Fl®|or m m @™ O e W m 5= @ = Dl ao O
RO al © © © S lol | O Mol [ O © © = | O ol |®0 © o |- o |0k ©
. Wls |z L = = 8|5 S |8 RS s |53
g o | & 0| X ®» o |OH [~ | —
o 0 50 o | & |
% | 5

0




<

n0

Kio

Hl w

30,201
30,201

30,017
5,077

24,940

H3r
Wikd
RIS

147,306
147,306

114,514

36,553

77,961

Off &t 24

6,394
1,543
1,895
2,571

1,560

600

177,507
177,507

144,531
41,630

8,500

14,592

480
804

180
624
3,180
1,800

130
3,600
3,804

3,240

1,500

102,901

900
504
360

1,404
36,000

12,000

1,700

300

40

50
210
1,260
13,592

-

0o
<+
o+
!
]

K

* 30A12+ » 123

[w]
=}

1
128,520
94,720
2,570,590

o
2 *

i

17,760

g~ 128

o
=

2l % 1

00
<+
4
J

o+ 18+ 20

o
=

20
g

&l

1+ 50% * 23

=)
-

Jtel

ok
RU
8o

4 o+ 18« 128

=

o

130,000
50,000

g« 128

(=)
=

2l x 1

00
<+

KO0

30
0B
o)
oll

201

01 At 2t 2l bl

179

Ao

500,000

0
0
<+
o+
oD
i

128
P ox2

=

=}

[

2 x 198 x 82 «

8,000&

Hl)

3

2 2

120,000

I

n
o]
R0
o
®0

128
128

2 o*
Ao

2+ 1HAE » 1228

=

265,000
150,000

[l

A x 4IHAL « 128

[ul
e

=

15,000
13,000

OXIXR

3

1
128
128

2 x

<+
<+

Al

A0

=)

Il

I

n0
<[0

128

2 %
2
2 x

130,000
270,000

i_]

[und

2 * 120

12,500

30
O

ul
Al

i

30
0H
20
H0

128
128
128
128

o
2 o*
A o

1« 208+ 128

30,000
3,000,000

o
[uad

=

2 x 250

=

300
2,100

Jl

OFSPIE==;

2

ro

U
<+

T

-

3

1

=Y
[und

2| %

e

1,000,000
1,700,000

o]
[l
Ko

Al

3

3

3

1

50,0003 * 1

1

(=]
2 *
2 x

e

40,000
210,000

el &

[l

2 o« 30 ~ 128

35,000

4
<J

e

ETV

O30l

Jl=&dl

OAIE ZHl =X




SN CABBMSSES BASSD
Hi: HH2IAH(THNZBYS 2R BMSS2)
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ood - 227 sz
50,000& = 1104 = 123 6,600
OHF AR ALl 6,992
-& XS AL 3,500,000& = 104 = 8% 280
RAPNE=YN D] 4,500,000& = 100 = 8% 360
-2 S$EEH |A2ell
14,400,000& * 8% 1,152
-tH2e 2534 X2
65,000,000& * 8% 5,200
OXt& = Xl 4,900,000& = 1CH 4,900
OM== E2A 800,000& * 23 1,600
O&E A &Y 763 * 5,358m * 63 2,444
O&F3x 14,0003 * 66.6& » 13l 933
OHEII? HEHI(SR)
880& * 4AI2t » 20 = 100 704
OZHOIX SXl2el 23,050,000 * 8% 1,844
OFMuEZT AHYRS 14,460
Osld Ar8s 1,205,000& * 12& 14,460
O3BAE= HIIHHEH =2
4,700,000& * 23| 9,400
202 oddl 29,376 24,192 5,184
01 SLHOIYI 29,376 24,192 5,184
OJI&Z
20,000& = 1798 = 82 * 128 * 90% 29,376
203 Q2= Y| 3,600 3,600 0

04 NS RFAH| 3,600 3,600 0
O©J| &= (202! Olct) 300,000& » 12& 3,600




